normalized X?

[ normalized x? probability |

10 12 14 16 18 20
2

X

1

< x2/ndf >

chiz chiz_prob
Entries 139 Entries 139
Mean 1.096 1| Mean 0.4737
Std Dev 0.6284 0.03 7| std Dev 0.2982

: chiz : PR

+_[Entes 1213 0.025 - [Entries 1213
Mean 1.053 v [ Mean 0.4955
Std Dev 0.6034 : Std Dev 0.2952

chiz ' Chiz_prob
- [Entries 1210 . [Enmes 1210
Mean 1.052 [ mean 0.4955
Std Dev 0.6033 Std Dev 0.2051

] ‘ i g J-
0.2 0.3 04 0.5 0.6 0.7 0.8 0.9
Prob(x?)

T

op,1p. > (%)

ol

== DQM_V0001_R000000001__Global__cmss
s DQM_V0001_R0O00000001__Global__mkFitNewOLD1000time__RECO

w1000time__RECO

e DQM_V0001_R000000001__Global__mkFitNewBinsDC1000time__RECO

5 :;ﬂ:

i3 :1 : : B N CE BRI 1
e B lI*H| i ] :
:| ] . . i F N |
1 2 3 =3 -2 -1 0 1 2 3
n TP n (PCA to beamline)
A N A
5 3 k<]
{=4 o c
< <
Vv \%
£ k=]
T T
14 4

107 1072

<op fp_> (%)
o

i

-2

-3

Ratio

-1
AR(track, je:‘LtS)



	Contents
	Page 1


